
19th January                                                     19th January                                                     

442 + 1480 5020 − 1352

A rectangle is drawn on a 
centimetre grid.

Work out the perimeter of the 
rectangle.

List the cities that are below sea-
level, 0 metres.

Which city has the highest 
elevation?

Which city has the lowest 
elevation?

(a)  Convert 75 miles into kilometres"        (b)   Convert 40 kilometres into miles(a)  Convert 75 miles into kilometres"        (b)   Convert 40 kilometres into miles

Name: ______________                                    5-a-day                                               Numeracy
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